SUMMARY PRACTICE TEST CHAPTER 10

1.
Press the [image: image1.wmf]APPS

 button. 

The APPLICATIONS screen will appear.
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Press 1: Finance
The screen should appear as follows:

[image: image3.emf]
Scroll down to D: dbd(



[image: image4.png]F:Pmi Ban





Press [image: image5.wmf]ENTER


Enter the dates for “date borrowed” and “date repaid.”

Date borrowed: 
Dec 4, 2009

Date repaid: Feb 27, 2010


dbd(12.0409,02.2710)

Press [image: image6.wmf]ENTER


[image: image7.emf]
The calculator shows that the “exact time” is 75 days.

a.
Penalty = I = prt 
2010.88*.065*(75/360) [image: image8.wmf]ENTER

27.23066667 which is $27.23

b.
Amount must pay on Feb 27 = MV = P + I 
2010.88 + 27.23 [image: image9.wmf]ENTER

$2,038.11

2.
I = prt
I = 60000 * .055 * 8 [image: image10.wmf]ENTER

$26,400

MV = I + P
MV = 60000 + 26400 [image: image11.wmf]ENTER

$86,400

3.
For # 3, a year must be assigned to the dates in order to use the TI-83/84 calculator to compute the number of days (Exact time). Here we will use 2010 as the year.

Press the [image: image12.wmf]APPS

 button. 

The APPLICATIONS screen will appear.
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Press 1: Finance
The screen should appear as follows:

[image: image14.emf]
Scroll down to D: dbd(



[image: image15.png]F:Pmi Ban





Press [image: image16.wmf]ENTER


Enter the dates for “date borrowed” and “date repaid.”

Date borrowed: 
May 6, 2010

Date repaid: March 11, 2011


dbd(05.0610,03.1111)

Press [image: image17.wmf]ENTER
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The calculator shows that the “exact time” is 309 days.

I = prt 
14000*.075*(309/360) [image: image19.wmf]ENTER

901.25 which is $901.25

MV = P + I 

14000 + 901.25 [image: image20.wmf]ENTER

$14,901.25

4.
Use 309 days calculated in # 3.

I = prt 
14000*.075*(309/365) [image: image21.wmf]ENTER

888.9041096 which is $888.90

MV = P + I 

14000 + 888.90 [image: image22.wmf]ENTER

$14,888.90

5.
November has 30 days

I = prt

210 = p * .0775 * (30/360)

.0775 * (30/360) [image: image23.wmf]MATH

[image: image24.wmf]FRAC

[image: image25.wmf]ENTER

[image: image26.wmf]31
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210 = [image: image27.wmf]31

4800

p

Multiply both sides of the equation by [image: image28.wmf]4800

31


[image: image29.wmf]4800314800

210

31480031

p

×=×


32516.12903 = p

p = $32,516.13

6.
I = prt

On day 20, payment of $2,000:

I = prt

I = 16000 * .06 * (20/360)

I = $53.33

Amount toward principal: $2,000 – $53.33 = $1,946.67

Adjusted balance: $16,000 – $1,946.67 = $14,053.33

On day 50 (30 days later), payment of $4,000:

I = prt

I = 14053.33 * .06 * (30/360)

I = $70.27

Amount toward principal: $4,000 – $70.27 = $3,929.73

Adjusted balance: $14,053.33 – $3,929.73 = $10,123.60

On day 90 (40 days later), balance is due

I = prt

I = 10123.60 * .06 * (40/360)

I = $67.49

Balance due = $10,123.60 + $67.49 = $10,191.09

Total interest paid = $53.33 + $70.27 + $67.49 = $191.09
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